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Unit 9 Probability Practice oe.. A DD 

#1-6 Use the spinner below to find the probability of the following ~~/vf lJ L"Ti PL 
2- l l CI) 

1) P c1J = 2J P c2 , 3J = 8 -+ 8 = I_E] 3 1 

5 
3) P ( < 4) = ___;,__ 4) P (not 3) = I 

ALL ~5 are. 1es -thtn t..( I CMld l 
If this spinner is spun twice find the probability of the following events: 

la.Yid 3 * I ·/'\._j 

5) 
..!2_ , cit? pc,ndQ t\ + 

PJl, 3) = 3 3 2 6) P ~• odd n,Smber) = (ol.j ;It ffiU l+i p /-J 
r ·~ 8 "T 1 

#7-10 An ice-cream shop offers two size sundaes: small and large and four flavors: vanilla, 
chocolate, mint and strawberry. 

7) Make a tree diagram. 

\ s 
Lor~f--

/ I \ '- s 
V C H 

8) List the sample space: 

1.__srr;V, SIY\ c_, , s,.,. fv\ SYY\S, ~ I 1£, 0 , 
9) How many outcomes are possible? l 
10) Find the probability of getting a large sundae. 

y 
8 

11) A school menu lists two soups, three_main dishes, three_desserts, and four drinks. How many 
different meals consisting of one soup, one main dish, one dessert, and one drink are possible? 

-kf\.Xlc\Q~ 
Ll)Jrt' 
rn {\~~-e.. 



5+-2.. +-10+ 3 =- 20 --
#12-13 Ajar contains 5 green, 2 blue, 10 blackand.3 red Jellybeans. I o+oJi : j,t/~kvns 
12) If Amy chooses a jellybean at random, replaces it. and then chooses another jellybean. 

13) 

a) Wht s ~hr:'p~f~~thoos~;irJbe~~~ Jree~¾:J e_ 
10 

P (black, green)= zo 5 
20 

b) What is the probability that she chooses two red jellybeans? 

[~oo ] P (red, red) = 
3 
Zb 

3 
20 

If Amy chooses a jellybean at random, does not replaciP and then chooses another jellybean. * DepcndQ,,n+ ~To+c CHt\Nu<==S 
a) What is the probability that she chooses a black jellybean and then a green jellybean? 

10 
P (black, green) = zo 

5 
/9 i 3~ J 

b) What is the probability that she chooses two red jellybeans? 

m. o~.r~d w0tS Q,lvea.d~ 
P ( red, red) = 

.3 
2b 2. - . cJ1\-0Set'), S b~r-c , s t \eS'S 

19 
#14-3 Determine if the following events are an example of an independent or dependent event. 

14) 

15) 

Mark has 14 coins. He takes one at random, e_,uts it back and 
then picks another coin at random. 

Ashley has a jar of cookies: 5 chocolate chip, 4 oatmeal raisin, 
and 3 rainbow. She randomly picks a cookie, eats it and then 
selects another one. -===:· 

16) Dan spins a spinner and tosses a coin. 

\ ~de_rvdrn+ 
lXptnden+ 

\ndep~-+ 
17) A jar has 4 red gum balls, 2 green gum balls and 3 yellow gum balls. Dan picks a gumball at random 

eats it and then picks a second gumball. What is the probability that he will pick a yellow and then 

a green gum ball? * Det"lrd.tY\ + / o+-cJ ·. Lj + 2-+ '3 = 9 
P (yellow, green) = l_ l _ 7TI 

q ·g · -uu · 



18) A coin is tossed and a letter is selected form the word COFFii) Find the probability of landing on 
heads ~ electing a E. "'Ir\ r, 

~. =f j 
19) A bag of marbles has 3 black, o blue, 2 white and..2 orange marbles. Jen picks a marble, ~ place§,.i.,t, 

and then picks a second marble. What is the probability of picking a black and then a blue marble? 
JV \ v-oe pettckn--l- Tb+a) ·. 3 + lo+ 2 + z = / 3 

P (white, blue) = 

2 J£_ - m=7 
I~. 13 - ~ 

20) The school cafeteria offers five sandwich choices, four desserts, and three beverages. How many 
different meals consisting of one sandwich, one dessert, and one beverage can be ordered? 

* FU"'J CL#Y\l( Af ctY I 
~n+i .,~l 5· Lf · 3 =- laO d ,· -Cre_rc:il~ fY\{aJS J 
Prive; fl~ -- -

21) A bag of marbles has 3 black, 6blue, 2 white and 2 orange marbles. Jen picks a marble, does natl 
replace it, and then ~c!_<s~ ;c~nQ marble. What is the probability of picking two orange marbles? 

-JJr d.e.~ - UIU'\~ To+-q ·. 3--Ho+ 2 + 2 = I J 
P ( orange, orange) = -Z. , I = ( TI 

{3 ,/2 LJ£} 
22) You have six game chips in your pocket, two red, one yellow, onei green, and two blue. You select a 

game chip at random do not rem..ace it, then select a second game chip. What is the probability of 
selecting 2 blues? * d ep t..n<:lu-\+ I o+o.Jl '. /o 

~. ~6£] 
#23-24 Emily spins the spinners shown below. 

*lnr\ep~ 
23) Find the probab ility of spinning the spinners 

and /andingLedand ,Tl 
½. 3 =-18 

24) Find the probability of spinning the spinners 
and landing on yellow and an odd number. 

I 
y 

z -3 



25) A jar contains 5 blue marbles, 7 yellow marbles and...8 green marbles. What is the probability of 
randomly choosing a green marbler r eplacing it;and then choosing another green marble? 

;t lnderenau'\-+ ?+--r+-?)~o-J-cJ·. Z:) rv\OJiliS 
P (g,een, gceen) = JL • 'i' _ J '-/ l 

Zo 20 - / zs 
26) A number cube labeled one through six is rolled and a letter is selected form the word GIRAj ~ . 

Find the probability oflanding on a 3 and selecting a F. ;? j ndt: c:h.,n--\ 

-t- · = !~11 l 
27) An experiment consists of rolling a fair number cube. Find the probability of each event. 

a) 

b) 

c) 

d) 

e) 

P(9) = _O_ 
5 

P(not6) = 

...:L 
P (less than 5) = lo 

2-
P(l~ even) = ---'3~_ 
-'-+ _3_ 
\o lo 

/ 23Y5Co 

28) At the school surf club meeting, there were three drinks you could choose from: soda, juice or 
water. There were three snacks you could choose from: peanuts, fruit or cookies. Each student 
may only have one drink and one snack. "khJY'<:b,Mtr'\+t:J 
Which of the following tree diagrams shows all of the possible outcomes? (__a;)+i, 
A drinks/ B drinks Pri r')( I pl e., 

"- juice Surf Club/ 

C 

_,,, peanuts "-snack 3. 3 -=- 9 
snack _ fruit 

"-cookies 

t!~f:r 
Surf Club juice 

eanuts 
fruit 
cookies 

/peanuts 
soda,fruit 

'-cookies 

.,,-peanuts 
water::;;::- fruit 

cookies 
/peanuts 

juice , frui~ 
cookies 
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